
Lehmann 60 % 4 60 % 4 30 % 5 54 % 60 % 4 40 % 5 50 % 52 % 4 2 0 nicht best.

Lotze 50 % 4 70 % 3 80 % 3 64 % 40 % 5 60 % 4 50 % 57 % 4 1 0 bestanden

Meier 85 % 2 90 % 2 90 % 2 88 % 90 % 2 90 % 2 90 % 89 % 2 0 0 bestanden

Meyer 85 % 2 90 % 2 30 % 5 76 % 90 % 2 90 % 2 90 % 83 % 2 1 0 bestanden

Müller 70 % 3 60 % 4 100 % 1 72 % 70 % 3 50 % 4 60 % 66 % 4 0 0 bestanden

Schmidt 54 % 4 30 % 5 54 % 4 44 % 54 % 4 54 % 4 54 % 49 % 5 1 0 nicht best.

Schulze 85 % 2 85 % 2 0 % 6 68 % 85 % 2 90 % 2 88 % 78 % 3 0 1 nicht best.
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Ergebnisse der IHK-Abschlussprüfung der Klasse XYZ
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